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(1) ENGLISH PAPER - 11
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

Read the following passage and answer the questions :

Always remember that regular and frequent practice is essential if you are to
learn to write well. You learn to write by writing. It is no good waiting until you
have an inspiration before you write. Even with the most famous writers,
Iinspiration is rare. Writing is ninety-nine percent hard work and one percent
Inspiration.

(1) What kind of practice is essential for writing?
(1) How do you learn to write?

(111) What is rare with most famous writers?

(iv) Do you have to wait for an inspiration?

(v) How much hard work and how much inspiration is necessary for good
writing?

Read the following passage and choose the correct answer :

And the fact that in this story there is a judge who was not guided by the
statute — book but by sound common sense, is due to the circumstance that the
incident which I'm about to relate could have happened nowhere else than in
England. In fact, it happened in London or to be more precise in Kensington, no,
wait abit, it was in Brompton on Bayswater; anyway somewhere thereabouts.
The judge was, as a matter of fact, a magistrate and his name was Mr. Kelly,
J.P. Also there was a lady and her name was Myers.

(1) The judge was guided by
(1) the statute book
(2) common sense

(3) senior judge
(4) rule of law

(11) The incident precisely happened in
(1) London

(2) America



(3) India
(4) Kensington
(111)  Mr. Kelly was the
(1) Lawyer
(2) Witness
(3) dJudge
(4) Actor
(iv)  Who was Mr. Myers?
(1) a doctor
(2) fortune teller
(3) judge
(4) magistrate
(v) The above passage is from the story
(1) the refugees
(2) the open window
(3) the gold watch
(4) the fortune teller
Answer about 100 words :
(a) Why was Gandhi keen to appear for the London Matriculation?
(b) Comment on Barnum’s recipe to cure extravagance.

(¢) Describe the personality of Hellen Keller on the basis of her selection of
‘sights to see’.

(d) How does Kalam show that real knowledge is a combination of past wisdom and
present day technology?

Answer about 200 words :

(a) How important is it for a writer to be a good reader and a keen observer
according to Hill?

(b) How relevant are Russel’s views on war and peace in today's world?



(¢c) Comment on Orwell’s decision to shoot the elephant.
(a) Answer about 100 words :
(1) What does Blake see in the chartered street?
(11) Why does Kamala Das call the body a familiar pest?
(i11) What is the speaker’s highest ambition in, “The Last Ride Together’?
(b) Explain the follwong
(1) “The trumpet of a prophecy ! O wind,
If winter comes, can spring be far behind?”
(1) “The carriage held but just ourselves
And immortality.”
(i11) And on a day we meet to walk the line
And set the wall between us once again.
Answer about 200 words :
(a) How does Dickinson present death?
(b) What is the central theme of the poem, ‘London’?

(c) Critically analyze, ‘The Gift of India’.
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Answer about 200 words :

(a) Consider ‘Diamond Rice' as a mild satire on society.

(b) Summarize the story, ‘The Lottery Ticket'.

(¢) Sketch the character of Subha.

Read the passage and summarize it :

Education is the instrument for social, economic and cultural change. If we are to
work for social and national integration, if we are to foster moral and spiritual values
and increase productivity, agricultural and industrial, we have to use education in a
proper way. Science and technology will help us to solve the problems of hunger and
poverty, of disease and illiteracy, of superstition and deadening custom, of vast
resources running to waste, of a rich country inhabited by poor people. We have to
free ourselves from the inertias and inefficiencies which have bogged down our
programmes of development. Our administration, at all levels, should become clean
and efficient.

Write an essay on the following

(a) Role of English in the 21st century.
(b) Il effects of fast food culture.

(c) Mental health awareness.

Answer the following :
(a) Write a report on the cyclone that hit your city.
(b) Write a report on the ‘Annual Day’ program in your college.

Use the sentences of your own :
(a) Word of mouth

(b) To bear with

(¢) To eat humble pie

(d) To call off

(e) Hand-in-glove

() Crocodile tears

(g) Beat about the bush

(h) To iron out

Answer the following :

(a) Write dialogues between brothers on how to celebrate the 25t wedding anniversary of
their parents.

(b) Write a letter to your brother telling him to concentrate on his studies.

(c) Write a letter to the municipal corporation on the problem of bad roads in your city.
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ANSWER ALL QUESTIONS
1. Answer the questions.
I for@@|
(a) AATTH= YemTEHYT for@al

(b)

(c)

(d)

Write the brief story of Naganand

IS EYhahella1ed GyHT fH&ued |

Explain the dramastic still of Bhasa with illustrations.
TACEET AT e |

Sketch the character of Baladeva.

“sft ooy Y 3 reawT AR foraal

Write the story of “Sri Krishnasya Mytri”.

9. YIA: GHIEAT: |
(a) fowanfier: s srfy: s ?

How did Viswamitra become Bharmarshi?

(b) A #ft THEgRa: IR Heames foraq|

Write an essay introducing “Acharya Sri Ramachandra.

3. Explain the following with reference to context.
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Second Year
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Write short note on the following.
Tgfeuuft forem|
(a) HmE: (b) ERLCE
(c) <M (d) wTRIEE:
2. Define and illustrate Alankaras.
AeTA T SFAZRT fored |
(a) dUq (b) T
(c)  SToREASIHT (d) w9EcH:
3. Write the forms of the following Sabdas in the given case.
fafés favfey wwfon foraa|
(@) vorge (fdr)  (b)  forgH (wrgef)
(c) e (qefram) (d) e (srer)

(e) TG (WeHl)(f)  (@g-Y. T)
(g) TR (feefrm) (h) oy (&ft) gl

4. Write the forms of the following adding the given terminations.

AT AR ferad|

(@) | + o (b) A+ FEq
(¢ T+ T @ foag + 3
(e) ¥+ 7H +7Y f F+TA
(g Y3 +7h (h) F+ I

5. Translate the sentences into Telugu or English.
TRITH STFHHTYRIT T SATANTNRT A1 TS |
(2) fergm & Toam
(b) HF: g el 3ef|
(o T TefdT: T |
(d) S SFRYETE e T |
(e) Faft Tt aga: |
(f) TIHEE FA Fa: |
(g) T fawrgam e
(h) formn garfa fomm)
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1. Toreht srfar =1 afi=m difso)

(a) qorHieE
(b) HiETA fgedl
() T B fren

2. Tt fowa w faegw fafiau)
(2) TAEOI-Sgy0l
(b) oI & @ R Tm
(c) SR hY T
(d) e
(e) TEdhITd

3. Toreht afeen famer w wepmw wiferu)
(a) oATfcerel (UMl o il H TEsRETs 1 TIH s |
(b) TR ITET i faedar saEd|
(c) e & fash™ W U @ forget 390 a9/ 99T1g St o T &l fHeifa it
(d) Bfreferor T8 #1 Hfa-ufe §mR)

4. Tr=faRes w1 e ¥ egamE i)

Once upon a time there was a farmer living on the banks of the river Krishna.
Close to his house he had three or four acres of land. He depended for his living on
this land. One day he was ploughing his land. He notices a bright diamond at a
particular spot. It was very attractive. Taking it in his hand. He wiped the dust of
it and washed it. His eyes dazzled by the brilliance of the diamond. According to
the existing law of the land it was taken to the emperor in his palace.
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(DBC21)

B.Com. DEGREE EXAMINATION, MAY/JUNE 2025

Second Year

BANKING AND FINANCIAL SYSTEMS

MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Types of Banks.
20800 I5°en.

Lending policies.

809 DPeTP.

Paying Banker.

390 2508 80.
Hypothecation.

&ar

Assignment.
AP0
Correspondent banking.
E8J0G 065 ergo8of
Regional rural banks.
EroBa% e eg08den
Mortgage.

BIPe.

Negotiable types of crossing endorsements.

RS 'aSL}iBBooego 8500 H0B0%W 5700 Jo& BYB00D).
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B.Com. DEGREE EXAMINATION, MAY/JUNE 2025
Second Year
BANKING AND FINANCIAL SYSTEMS
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Explain the types of life insurance policies.
BB HIHT° OV SO IHBOVIDD.
Explain the reforms of money markets.

(3595 5I°8),¢5) V0, BE0R DHBoBIDY.

Explain in detail about cooperative institutions.

DIS°E Doge KHBod HHFone 9HBoNos.

What are the statutory protection to the collecting bankers?

AT B WFOLO BYALID FEEs A3 ?

Explain the definition and relationship between bank and customer.
ao°§o§ So8a50 s"égboS D05 W020meRY HoBAIL DEFHT*RY HHBoBoSW.

Explain the capital reforms marts in India.

BPEHDEH0S® 0T D R0, BE30 HI70)0%50 HHBoBIDD.
Explain the role of exchange in financing foreign trade.
©8¥ DB 323506 HIG)& w500 B DHBoBVIHY.
Explain the composition of primary and secondary market.

PP 0E HoBaAs B0 D788 EIBRR0 DDB0oWIDN.

Explain the crossing of Negotiable Instruments.

DS 'aSL}iBBooeg [S°00RK0 HBoBIDW.
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ASSIGNMENT-1
B.Com. DEGREE EXAMINATION, MAY/JUNE 2025
Second Year
FINANCIAL ACCOUNTING - 11
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Instalment purchase system.

TPoT® §%oRen 2GS

Features of single entry system.

2083 ‘&)&ch DTCPIDN OFEIDN

Royalties.
o°a%8)
D

Entrance fee and donations.

(DDA B0H0 HoBaAsw ER DD

Advantages of Departmental accounts.

&avgbooeoé ®@3°0e5) ergren

Good will.
EDS

Objectives of Branch Accounting.

[e09 e oe3of oFTgen

What 1s forfeiture of shares?

Toe 25 XTI,

What is meant by partnership deed? What are its contents?

P05 2YOLHN BITDN? oIS o) DA?

(DBC22)

What do you mean by Departmental Accounts? What are the advantages of

Departmental Accounts.

B 00S IF°06h) BXMTIN? EFEI000S IT°06)) BwE); ergren 0006,
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ASSIGNMENT-2
B.Com. DEGREE EXAMINATION, MAY/JUNE 2025
Second Year
FINANCIAL ACCOUNTING —1II
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

1. Mohan has not maintained proper books of accounts. He furnished the following
information before you prepare necessary statements for the year ending 31.3.2008 and
find out the profit or loss.

Particulars 1.4.2007 31.3.2008

Cash in hand 5,000 6,000
Bank overdraft 45,000 40,000
Stock 60,000 62,000
Creditors 38,600 37,200
Debtors 30,000 32,000
Bills Receivable 40,000 38,000
Bills Payable 60,000 57,000
Buildings 50,000 50,000
Furniture 5,000 5,000

His drawings during the year Rs. 750 per month. Depreciation on buildings at 5%
on furniture at 10%. Reserve for doubtful debts at 5% on sundry debtors.

DTS FJORVE- N Z’Q)‘g?e):éo X)dogiwobowo B0 9B Se 8o8 K)érwc"x)& a‘&)_oom&do.
31.03.2008 &° @oé:)oo'f)oag ‘(oo:éé{gm‘o% 808 Jdr>So esgrSone :)52636(?@ ADBELD
08030 OPERTOD §508%,08.

30000 1.4.2007 31.3.2008
DAS® HK&S 5,000 6,000
a7°§o§o 558 chogg 45,000 40,000
VB 60,000 62,000
2220£T°H O 38,600 37,200
20083 {0 30,000 32,000
HATeD Beyen 40,000 38,000
290 veyey 60,000 57,000
AREVIOV) 50,000 50,000

SBy5> 5,000 5,000
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2. Smitha & Co Ltd issued 15,000 equity shares of Rs. 10 each at a premium of Rs. 2
per share payable Rs. 2 on applications, Rs. 6 per share on allotment (including
premium) and Rs. 2 on first call and the balance on final call. All the money was
duly received. Pass necessary Journal entries.
® & 509D Lid 15,000 &68583 reroio a.8°5), $e85e3 arer 10 8o Sapid 2 8o
[2200508° &8 DR 0B. Toer FEPTN P 2 S TrerEeron0Y P 6 S (D00’
VD) IESE Doy P 2 S MAODKE BB De0Y P DeoRNIRCL Q3 P Aoy
HACGHB. Eond YASOS’ ©DVTID deFIe0 20006

3.  What is share capital? Explain different kinds of shares.

TOET® DT LSRN IFTR? DY 8500 TN 5B80908.

4. A Motor Company purchased a truck on 1st Jan 2014. The cost price being Rs.
56,000. The purchase is on Hire purchase basis. Rs. 15,000 being paid on signing
the agreement and there after Rs. 15,000 being paid annually for 3 years. Interest
was charged at 5%. Depreciation was written off at the rate of 20% per annum on
the reducing balancing method. Prepare necessary accounts in the books of Motor
Company.

28 JIPeIBD E00d wIHB 1, 2014 D5 2.8 (80850);00 §:50R%e0 BB, T S8 3301 56,000

§oR’er eRE"R DY wBRoB. efidvoen P Vod¥o BAIYPE IYoY .

15,000 81 DRI 3 Tonzred® wonme w8jol8 15,000 Srn Sapd
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HASTPEY DoSod.

5. Prepare Income and Expenditure account from the receipts and payments account
on 31.12.2015.

Receipts and payments account
Receipts Rs. Payments Rs.

To Balance 1,500 By Salaries 12,000

To Subscriptions 21,000 By Office expenses 3,500

To Donations for construction of building 15,000 By Printing and 2,500

stationery

To Tournament fund 2,000 By Insurance 500

To Legacies 5,000 By Advertisements 2,000

To Sale of Magazines 500 By Investments 11,000

To Sale of furniture (original value Rs. 300 By Tournament expenses 1,500

200)



To Other receipts 1,700 By wages 8,000

By other expenses 1,000
By Balance 5,000
417,000 47,000

Additional Information:

(a)

(b)
(c)
(d)
(e)

Rs. 1,000 in subscription is related to the year 2014 and Rs. 1,500 is
outstanding for this year.

Subscription received in advance Rs. 500 are also included.

Capitalise half of the legacies.

Outstanding salaries Rs. 2,500, Insurance prepaid Rs. 100

Office expenses include Rs. 300 of the last year and Rs. 200 for this year

outstanding.

Prepare Income and Expenditure Account.

IATaO)S) a%é é‘fo)"’og 3(’20‘@)@0 e 31.12.2015 esprSom esmeoio-— ?55055”0 T
HOITEY DAV0E.

SArg DYoYen grar

JrEY &, 3oy &Eoe.

To 839)d deg 1,500 By deren 12,000

To Hoween 21,000 By esdoo BOCY 3,500

To 553 doRETS EINDY (do7wren) 15,000 By ®os30f 08050 2,500
D€

To 65°)D0060 DE 2,000 By s 500

To 8K 5,000 By o¥eden 2,000

To BoNF S Dy 500 By Deyaie 11,000

To 88> @dy¥o (PIFY de0d 2000 300 By es%y@0065 95500 1,500

eI

To RHE HITH L700 By B3sares 8,000
By a®d piyen 1,000
By @@Qé SISTS 5,000

47,000 47,000
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6.  The balance sheet of A and B as on 31.12.23 is given below they share profits and
losses in the ratio of 2 : 1.

Liabilities Rs. Assets Rs.
A — Capital 40,000 Building 20,000
B — Capital 30,000 Furniture 6,000
General reserve 24,000 Stock 12,000
Creditors 16,000 Debtors 60,000
Cash 12,000
1,10,000 1,10,000

They agreed to admit C into the firm on the following terms.

(a)
(b)

(©
(d)

C will bring RS. 12,000 towards capital and Rs. 9,000 towards goodwill.

C will be given i share in profits.

Depreciation on furniture is provided @ 5%.
Stock 1is to be revalued at Rs. 10,500.

Give necessary ledger accounts and balance sheet of the new firms.

31.12.23 5 A 508050 B 3Bwg); &3 ejpe D 1808 DFor PHod TEY S IAD

2:1 X)K@egé‘s ‘&)oéoé)oewa"&do.

QPO 8o, SISOV 8.
A—soreisdn 40,000 gsoeen 20,000
B-Sorogssn  80:000 5856, 6,000

A peSes Basg 24,000 %55, 12,000



(a)

(b)

(©
(d)
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200E3T°H O 16,000 20083 {0 0 60,000

SKE 12,000

1,10,000 1,10,000

T80 C' gPAVRM™ &3 808 AB0B00S® DEETH506050 @oREBow 8.
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HOITEIDA0E.

7. ‘A’ of Andhra Pradesh has a branch at Madyapradesh, Goods are supplied to the
branch at cost. The expenses of the branch are paid from Andhra pradesh and
branch keeps a sales Journal and the debtors Journal only. From the following

information supplied by the branch, prepare Branch Account in the book of Head

office.

Opening stock 1.4.2014

Closing stock 31.3.2015

Credit sales

Cash sales

Receipts from debtors

Good Sundry debtors 31.3.2015

Sundry received from H.O Head Office
Expenses paid by the Head Office for the branch

Rs.
36,000
27,000
60,000
24,000
42,000

9,000
40,000
10,000
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1.4.2014 [De80859) DEIE dog 36,000
31.3.2015 H0R0Q) WE2E deog 217,000
®82) BRSO 60,000
S{aN) eaéoéswo 24,000
2008300 00D HATE 42,000
2es|fes 31.3.2015 9,000
& e 2009 DAY VW 40,000

8 DD @rod §8H 3Yods  psner 10,000

th
C, D, E were partners, sharing profits in the proportion of %,%, and %
respectively. The balance sheet of the firm on 31.12.2012 was as follows:

Liabilities Rs. Assets Rs.
Sundry creditors 19,000 Cash at Bank 2,500
Bills payable 5,000 Debtors 16,000
Reserve fund 12,000 (-) Reserve for bad debts 500 15,500
Capital accounts Stock 25,000
C 40,000 Motor van 8,000
D 30,000 Plant and Machinery 35,000
E 25,000 95,000 Buildings 45,000

1,31,000 1,31,000



“D” retires on that date subject to the following adjustments.

(a) The goodwill of the firm to be valued Rs. 18,000.

(b) Plant and machinery to be depreciated by 10% and motor van by 15%.
(¢) Stock to be appreciated by 20% and buildings by 10%.

(d) The reserve for bad doubtful to be increased by Rs. 1,950.

Show necessary accounts in the firms books and the balance sheet after ‘D’s
retirement.

th
C,D, E a¥ wf{@vog:soé Too‘é)eS’s AAESSISVNIEVeN @eﬁ;@%@é\) %,% DoBosw % dYdo

DoWoE 0TS, 31.12.2012 7°¢3 o°6 es?_op PO ‘é%g o8 2 EH0m HB.

QP 8o, SISOV 8o,
2VEITH OO 19,000 g050S° HHLS 2,500
3009 depsy 5000 geazen 16,000
B85 D 12,000 (-) o°® erée 98 500 15,500
ISOAISY ATV IOV RVEE 25,000
C 40,000 DIeat TG 8,000
D 30,000 ot oS0Emen 35,000
E 25000 95000 e 45,000

1,31,000 m

TS0 H00D “D” 9H0D08°E0DB0. & 1808 D0EHen Fe30WHBSR0.

(8) Dog HEDS 18,000 87711 DLOBEREDIDD

(b)  xoew dDoEre P 10% 08030 DI°eadd Tgd0 P 15% BT Sk

(€)  DBK0 20% D083 TR0 10% &° DoWVIBH0

(d) orderde 98 1,950 8501 DoHod

D 9508 BOTEH GIIEPD groren, &Y B ‘&)éé BHOITEY Voo, (K)o‘é)
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(DBC23)
ASSIGNMENT-1
B.Com. DEGREE EXAMINATION, MAY/JUNE 2025
Second Year
QUANTITATIVE TECHNIQUES — II
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Components of Time series.

SPOREEVO OI0E) BOoBEeD.

Limitations of index numbers.

DI ‘&)ogpage) BE); DBpBOeD.

Types of events.

PO E3°e0.

Meaning of differentiation and integration.

D EOD0 HDIBOIN dITrEedo0 eago.

Limitations of linear programming.

AEDIE (DeTOE HBBIEV.

Time reversal and factor reversal test.

SODBHED D8N ST DBHD HBY.

Maxima and minimum.

7, §
maé.} D08a3n 58)&&(‘583.

Essential characteristics of time series.

TOEENO BHFEID oFeTen.

Fit a straight line trend values by least square method and estimate the profit for the year
2024.

E2g dre ‘Qg@;@ PDESB g (929)8 90D EBOAD 2024 Doil ergrR) @oH DoRod.

Year (Q09®y50) 2013 2014 2015 2016 2017 2018 2019 2020 2021 2022 2023
Profit (ergso)

(in ‘000) :

(‘000 ©&°)

64 70 77 82 85 87 100 113 107 118 121



(DBC23)
ASSIGNMENT-2
B.Com. DEGREE EXAMINATION, MAY/JUNE 2025

Second Year

QUANTITATIVE TECHNIQUES — II

MAXIMUM MARKS:30
ANSWER ALL QUESTIONS
1. The date given below are :
Base year Current year
Commodity BE°8 V0HBYBO (DG VoHBYBo
SN Price  Quantity Price Quantity
(B8) (DBHree0) (&8)  (DBHe90)
Rice (58) 2 4000 2.50 4500
Pulses (dQpa=argen) 5 500 4 800
Beverages (83xe0) 15 1500 2 900
Vegetable (¥r8reofoen) 10 250 12 260
Meat (29°0%0) 8 2500 5.50 5000

Construct the following :

PR ANGED DG E D009 D B3R B8 0006,
(a) Laspeyer’s price index

erR)OI8 8 Wed.
(b) Paasche’s quantity index

Py DBIIE D,

(¢) Fisher’s price and quantity index

D08 B Ho8AN DBHICE WD,

2. A husband and a wife appear in an interview for 2 vacancies in the same post. The
probability of the husband’s selection is 1/7 and that of wife is 1/5. Find the probability that

Boc grden Ko a8 EED éﬁsagf{ STPE DB 0 2.8 g8 HoBASw B U P K0. FY
DOVEED 0 VogrHgSd 1/7 e H0805» gy JoNE 1/5 1dd &)



(a) both of them will be selected
JEIYDHET® JOVEL

(b) only of them will be selected
DHE° 258 JoNEKH

(¢) none of them will be selected
DIEI° JONDE 5D 0LIDEY 10 SR EN B8),0%06.

Solve the following L.P.P. Graphically.

B8RS DODVED AEQTH (Dedse BNV BPos K)((‘,g A FBoHodk.
Maximize Z =8000x; + 7000x,

KBREBoYD:

Subject to 3x; + x5 <66

DBBOOK S*E ¥y +x, <45

x7 +0xy <20
Ox; +x9 <40

and (H8a50) x;,x, 20.

Find the seasonal variations by the method of ‘Ratio to Trend’ for the following data :

BROD ETLOBHNIE MY DS 500D (2)d ‘Qg@ (D5°E0 20BIDVEETPORN EHIR"H06.

Sales in '000 (e95%5°ed 000 o)

Qty.
983re0) | g il 11 v
Year (Qod8®y80

2018 30 40 36 34
2019 34 52 50 44
2020 40 58 54 48
2021 54 76 68 62
2022 80 92 86 82

From the following data calculate the cost of living index number using the geometric mean.
B BB°0BHW D00 Kosa:ﬁoc;sag:ﬁozﬁoo:éo &DBrRoD DD éago:io VI }’ooa)?s:so E0ATH0E.

Items (H0He0) : Food Fuel Clothing Housing Misc.
” (55%50)  (59080) (530) (fy0)  (aBsHe)
Indices (Wreden) : 400 200 250 150 300

Weights (gr8aren) 5 3 4 1 2



The probability of a cancer patient escaping the death is 1/10. Out of the 3 persons suffering
from cancer, find the probability that atleast one person will escape the death.

28 89)8 8°R H08€30 BYOWIETHIED PR Vogrdg® 1/10 0D 39)5 §°K0&" arsdeasoR,) 3

:saségooe?s £9%0 a8 é?ﬁ DY E30 HN)0WIETHIeIE TR DogrHgBRO EH0R"H08.

Find for what values of x, the following expression is maximum and minimum respectively.
2x° - 21x% +36x — 20 .

Find also the maximum and the minimum values.
BHOD BHED DBe3°H5065° x end o KB DoBAsw EDYDT E0RH0&.

2x3 - 21x% + 36x — 20..
55{)‘&;} H08030 KB‘é} DOVHONY Erte EHD0RH0E.

Using graphic method find the solution to the following L.P.P.
AEPTD (DEFOER0 TS DG BD GIBIROH EHIR"ID0.
Minimize Z =1.5x, +2.5x,

(50Q88e20)

Subject to X, +3x5 23

X1 +%x9 22

(DB8HOK S*E)
x1,%9 20

Evaluate the following integrals :

BROD AVGWED VIrEeTeR B8) 000k,

dx
® '[ (2x - 3Y

(b) j(2x +3) (xz +3x — 1)]/2dx .




(DBC25)
ASSIGNMENT-1
B.Com. DEGREE EXAMINATION, MAY/JUNE 2025
Second Year

COMPUTER APPLICATION - II (COMPUTER BASED DOCUMENTATION)

10.

MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

What are the Applications of computers?
S0y &9;)?,‘21263 A3 ?
Write about cache memory.

595 2008 0809 Tro%0d.
Write an overview of Short Buttons.
8 VIO BWE); BHSEIY) 07000,

Explain in detail about MS-Office.

MS-Office 0809 dHEom H80H0&.

What is mail merge?

200085 9950 9085 203 ?

What is Slide? Explain the procedure to create a slide.
Qo0& @083 203 ? YoED YYD IR dHBoHos.
What is a Slide miniature?

RONE ATEIDHO ©0E ID0e3?

What are the advantage of Power Point?

258 000065 BaoE); (HBIET 0 IR ?

What are the basic operations of computer Systems?
§o‘fgy°§e08 ?o‘éa)SoQ BE); (PN seEgEeraren A0E3?
Explain Header and Footer.

WD D080 Peodd DHBoWod.



(DBC25)
ASSIGNMENT-2
B.Com. DEGREE EXAMINATION, MAY/JUNE 2025

Second Year
COMPUTER APPLICATION - II (COMPUTER BASED DOCUMENTATION)

MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Explain about computer Languages.

éo‘@j"éwg Languages ® 0809 9580%08.

Explain the procedure to create hyperlinks in PowerPoint.

D58 Fr00065S° pDEdoEeRy DAOD DT HBoBHod.

Write about different types of computers.

DD Esce computers © K080 TPA308.

What is Operating System? Explain different types of Operating System.
Operating System 083 D032 9D S50 Operating System 050 9580H506.
What is windows Operating System? Explain its features.

90&% Operating System 083 D032 ° IRXON dH80H0S.

Explain about different components of MS-world.

MS-world GBwE); 2D e 0802 dHBoHod.

Explain the graphic facilities in MS-word.

MS-world &° graphic BPETg0R0 DHBOoWD oé&.

Explain the procedure to draw the objects in power point.

256 $0065S" HHDHOXO draw IAIw R dHBoVos.



